F g

uls
=9

Fo pHEo] B, FH.2

o
o

1

!

Yt

5
2 22245 274 Solygynt

D 912 2425% 374 Fol

@

_CH

U

@ 912 eSS 274 Fol

‘ ot

o o

7

M=z 148 =




T 9o e BT O] A%E Ly o
HpgFol A 2 BORILU71

@
!
i :
©
> cCt
>EE: ©

Y BT BN 359 BAUTA A4 AEOE
o2 @O WA & mepech




©@1-©2-0603)-9
®1H-02-00)-0




o

IR Be B B, YA Ho & RS WE7] A

7t2} Al 2] BRIt Z4ZF 7 -
ARR: 1x1=1,

ERH: 2x2=4,

AAH: 3x3=9,

A 4x4 =16 AQPYrTh

i

ofLt

rlr
=1
i
jins
iw
ik




# o F(eE=m)
> = A
> HEbD 8A
87
231 = 87

2+2+3+1=38(7)




